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Aufgabe 1
Stelle den Bruch als Prozentsatz dar.
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d) 7ggo=313% ¢) 25 = 10— 16% £) To00=25.7% &) Too0—91.3%
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h) T = Lo —45,6% i) Lo —28,9% i) 1o -18,7%
Aufgabe 2
Stelle den Bruch als Prozentsatz dar wie in Beispiel a).

49 _ 98 24 _ 96 9 _ 36
d) 100—79% e) 25 == m:fig% f) m:29% g) 2—5 T 72%
h) Dh=5T% D) a-63% ) 5y = 1o 15%
Aufgabe 3
Stelle den Bruch als Prozentsatz dar wie in Beispiel a).

7059 6267 863 _ 8630
) H%Oimigg? b) 10000~ 6%%7;% ¢) T000 = TQUoD— S0+37%
N NG NG e
g) 5000, = Too00—20:42% h) o000 73:53% i) 1950 = Too00 °%12%
1) 10000 68,33%
Aufgabe 4
Stelle den Bruch als Prozentsatz dar wie in Beispiel a).

A1 _ 82 13 427
W) 5= p-s2% D) E = 10p=26% o) Toog—427%
8) Thoy—96,1% h) 5 = % 55% i) 2 = 1h5-94%
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Viel Erfolg!
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